| Efficiency vs Dxy |

> 0.2
<

- F
(/)018__ """" RRREREE
S 5
30.16[ - ft
& P 5
8 0,14

©
0.12

o
=

3 - Qe 4k - - 4

0.95L

-20 -15 -

..............................................

o

| ___:;::_ 'r il _:.: L+
!lfu I’I| 1
“\ hm.;.:mﬂﬂlﬂ M

| \HH

0

10 15 20
TP dxy (cm)

—=— DQM_original_stepZ_tibar-phasel-newgeom

—e— DQM_mkFit_step2_ttbar-phasel-newgeom

| Efficiency vs Dz | —«— DOQM_angle_step2_tthar-phasel-newgeom

N 0.2
©
€0.18
oy
_5 0.16
(&)
£0.14
()
0.12

0.1+
0.08F
0.06
0.04
0.02r

—+— DQM_fast_step?2_ttbar-phasel-newgeom

A9 . it -

: 0“'

10 0 10 20 30
TP dz (cm)




	Contents
	Page 1


